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10. 1 RDIETEHEREE

FHE1.1.5: EHEARIFIETEER (IN|<|R|)
SEBA) S={x|xeR, 0<x=1} S RMNEAEERTH
CEETRT. ( DFHEETRT)
EHOMEE: VX eR ZERNMNIELT-EITRES.
B1) 1=0.999999: - -
%= 0.333333---
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FEIE1.1.5 O (EEE)
RDFHEAS={x|xeR, 0<x =1} [FFAH
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) RIAREIE (1)[S|=|25] (2) S| # |25

(1) T={{x} | xeS}&T 3L TC2
f:S—>T S={123}
fix m{x} T={{1},{2}, {3} }
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(2) S| #[2%] (SHB 25 ~D1R1RIGIEFIELLLY)
EEETRY.
RE 3f:S— 25 1515t

V={x|xeS, xgf(x)} GRRAVEERDL. ..
VES (Ve2s)
fIX1x 155G D, Taes st fa)=V

(1) aeVETHE VOERLY, aef(a)=V} x
(i) agVETHE VOEERKY, acf@=V )'E
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P(n): BA# n I SdnE
nn+1)

B 1424 4n=
XN+ yn =" Fi- T B Xy, 2 BNEET S
PRI L,
vneNI[ZRLTP() NRYIDIEERT
[VneN, P(n) INETHDHEETRT
DIZHBH THIGELRAA &
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" JEE
= HIFE % (mathematical induction)
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(I1) VneN, [_—» P(n+1)] (KETHAHZLETT)

‘E“ 5 0) =
JRihE DR E 0> R
1) P(0) NE .
P(O) — P(l)b\> PO HR

NE
P(1) — P(2) b\-g/P(z)ﬁ(S) -
(I < PQ)—PER) MHE -
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(I) PO)AE < 0€S
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(ID [P(n)—P(n+1)] <> neS = n+1 €S

neN = s(n)eN

(D), IDZEFRT &L, S=NERT &S !

HEEF10 15




